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HE HERT Xy B ae IB{ERR Ly ER e
L[E#RE ™ EKK = RINRE] 1 FHD 3 FETIEAKX =122 2&it
2|1FFH B KX = RMFR 1 FHitbd 1 2 Le-U¥>C FEHEKE=1R1 2 2 3FEH®D 2 Le-Uv>C
3|FFHE B KX = RMFER 1 Hitbd 1 2 Le-UV>A FETIEKX=R1 22 4FHD2 Le-U¥rA
41EEH KX ZRMRR 1 Hitbd 1 2 Le-U¥>B FEHEKE=(R1 22 4FHD 2 Le-UvY>B
5|E# M B KX = RIMNFERT 1 FHitbd 1 2 Le-U¥>»D FETEKE=(R1 22 4FHD2 Le-U¥>D
6|F#fA TIE KX = RINRET 1 Fibd 1 3 TA—FA FEmEKX=R1224FwD1 TAa—%A
T|EE KX =R MR 1 FEitbd 1 3 TRA—YB FETIEKE=R1 22 4FHD 1 7A—YB
8|F#RA TIBE KX ZRINRAT 1 Hd 1 3 TR—%C FETmEKX=R1224FwD1 THE—H%C
9|FFMH B KX = RMRH 1 FEitbd 1 3 TA—Y%D FETIEKE=R1224FHD 1 7TBE—%D
10(B# M B KX ZRINRET 1 &HHD 1 6 FETmEKX=R1223FD1
11 (B TIEKX ZRARRET 2 D 1 FRETIEKXITF 1 1 6 5FHD 3
12|B M E KX = RILRET 4 Fi o 1 FEATIEKX=R1 2 4 5 &M
13 (B TIE KX Z(RINRHET 4 D 2 ZIT7Hh—Y FEATIEKX=(R1 24 3FEHD 2 7IT7h=Y
14| TIF KX ZRINIRET 4 FHD 5 FEHEKX=fR1 25 6FHD 1
15(B# R MIE KX Z(RINRHET 4 D 5 FHEATIEKE=(R1 25 6&FHMD 1
16 |FHE TIF KX ZRINIRET 4 FHHD 6 FEHEKX=R1 25 7HMHD 2
17 (B TIE KX ZRINRET 4 D 8 FEATIEKE=R1 25 9&FHMD 1
18 (B IR KX = RINIRET 4 #FHD 9 FEHEKE=R1 25 7HHD 2
19 (B TIE KX ZRAVRHT 5 #HH D 3 FREATIEKE=R1 25 2&FHD 1
20| F#RA TIB KX ZRINRET 5 FHitbd 4 FEATIEKX=(R1 25 4 &t
21| F B KX = RMWFR b HitbD 5 FEMBEKX=R1257&HMBD1
22|F B KX = RINRHE] 5 FHitbd 7 FEHEKX=1R1 25 8&HEM®D 2




HE HERT BYeing IB{ERT BYangE
23|F AKX = (RIARHET 5 HH D 8 7 A—ILZ=R BEHMEKX=F125 1FHHD 2 7 - A—IL=1R
24| TIEKX = (RILRET 5 FHHD 9 BRHBEKX=R1263FHD11
25| TIE KR ZRVERT 5 FED 1 0 BEmEKX=R1263FHD10
26| FRRE TIBK X ZRIVRHET 6 FH# o 1 EHETEKX=ZR124 7FE D1
27| R TMIEKX = (RIRHT 6 FHHD 2 BHMEKX=F124 7FHHD3
28| BRI TIEK X ZRINRHET 6 FHHbD 4 EETEKX=ZHFE124 7FE®BD4
29| TIEK X = (RIAJRHET 6 HHD 6 BHTEKX=F124 7FEHHDS
30| ERRE TIEK X = RICRHET 6 FHHD 7 EETEKX=ZHFE124 7FEHBD6
31| IEKX = (RIARHT 6 FHH D 8 BHTEKX=FR124 7FHDT
32| ERRE TIEK X ZRICRHET 6 FHHpD 9 EETEKX=ZHFE124 7TFEBD 2
33| EEM T KX ZRINRET 6 F#d 1 2 FBETEKX=R125 1FEH
34| ERRETIBEKR ZRIVFAT 6 HHD 1 6 BEmBEKX=R1 25 0FHD 3
35|F R MIEKX = (RILRHET 7 FHHD 5 EMTEKX=R1263FHHD1
36(FMA M EKX = RIVFRT 8 FH#Hrd 1 H—Y 77— BETIEKX =R 1 2 3 9F#M h—H 77 —Z|
37|FE R TIEKX = RIRHET 8 FHHD 4 BEMTEKX=F125 1FHH03
38| ERRE TIEKX ZRIVRHET 8 HHD 6 BEHBEKX=R1 24 5FHD 4
39|F R TIEKX = (RILJRHET 8 FHHD 7 BHMMEKX=F1245FHH03
40| BRI TIEKXR ZRIVFAT 8 HE#D 1 5 EETEKX=E12 3 9FH
41| EERTIEKR ZRVERT 8 FEHD 1 6 H—Y -7 7—=XIl FBETEKX=R12 3 9FH Hh—Y - 77—l
42| ERRETIBK X ZRIVRHET 9 FHod 1 BEHBEAKX=ZR119 1FHD 2
43| BRI TIEKX ZRINRET 9 FHbD 2 EHmEKX=F1186&FHD?2
44| BRI TIEK X ZRINRET 9 FHHbD 5 BEmBEKX=R1186FEMDS5
45| B T IEK X = (RILRHET O FHHD 7 BEMMmEKAX=F1187&H#HD3
46| ERRE TIEKX ZRIQRHET 9 FH#D 8 FEMmEKX=R1 18 7HFMHD1
A7 | B TIEKX ZRINRET 9 F#hd 1 2 BHMTEAX=F1189FHD6
48| ERRE T KR ZRIVFET 9 FHd 1 3 BEHBEKX=R1189FEMDS5




HE HERT BYeing IB{ERT BYangE
49| EEMTIBEKR ZRIVRRT 9 FEHD 1 6 BHMmEKX=F118 9FHn4
50| F# A MIEKX = RNRET 9 FiD 1 7 BEHBEAKX=R118 9FH®D 3
51|EMMIEKX =ZFMEIT9FEHD 1 8 BHMmEAX=F118 9FHD 2
52| AKX = RINERT 9 F#HD 1 9 FEMEKX=R119 1&EMHD6
53|E: M MIEKX ZRMERT 9 FHD 2 0 BETmEAKX=F119 1FEHHD5
54| E: A TIEKX ZRILFAT 9 FHD 2 1 BRHBEAKX=ZR119 1FHD 4
55|E: M MIEKX ZRMERT 9 Fihod 2 2 BETEAKX=F119 1&FHHD 3
56| F: M MIEKX =RIRFEAT 1 0 FHo 1 EETEKX=F119 9FH
57|88 EKX =(RINART 1 0 FHD 2 a—-FRFzU— BETEAX=F119 6FH#D 2 aA—FRFzV—
58| F: A MIEKX = RILEET 1 0 F#HD 3 BEHBEKX=R119 6FHD7
59|ERE M AKX =(RINART 1 0 FEHD 5 BEHMTEKX=F1196FHHDS
60|F2EMIEKX =RMART 1 1 FHD 2 BRHBEAKX=ZR117 6FHD1
61| M AKX =(RINART1 1 &FEHD 4 BHMmEAKX=F1189FHDT
62|FRMIEKX = RILFEAT 1 2 FHD 1 BB KXFTA L1 6 9FHD9
63| M E KX =(RINRRT 1 2 FEHD 2 BEmEKXITA L 17 0FH#D 6
64|FRETIEKX =ZRINRAT 1 2 FHD 3 BEmEAXIFA 117 0FH#D 5
65|E M MIEKX ZRMER 1 2 FHo 4 BEEMmEAX=F1209FHD 3
66|F: M MIEKX =RWRART 1 2 FHD 7 BRHBEAKX=ZR117 0FHD 2
67|EMMIEKX=ZFRMEITL 2FHBD 1 1 BEMTEKX=F1106FHHD1
68| M B KX = (RINAERT 1 3&F D 1 8 BREHBEKX=ZR1226FHHD4 4
69|E:MMIEKX ZFRMERT 1 3FHD 2 2 BEmEKX=R1226FHmDn4 1
70|B M MIEKX =RNERT 1 3FHD 2 5 BEHBEKX=ZR1226FHD4 7
T1|EERATIEKX =ZRWERT 1 3F#D 2 9 BHMMmEKX=F1215FH1H0D5
T2|FETIEKX =RINRAT 1 4 FHD 1 4 BETEAX=FR1226FHHD3 1
T3|EEMTIEKX =ZRWERT 1 4 FEHD 1 6 BEmEKX=R1226F D29
T4|BETIEKX =RIARAT 1 b FHD 1 TRy AR BETIEKX=R12 2 6FHD 3 7RIy R=ZAR




EE F{ERT B g IR{ERT By ainE
75|F AKX =RIMAET 1 5 FHD 1 4 BEMEKX=R1226&FHN1 3
76|FETIEKX =(RIRAT 1 6 FHHD 5 BHELX(3I— =RE BEHBEKX=R1216FHD?2 BH#HEXM13— =&IE
TT(FEMBEKX=RWET 1 7HFHD 1 BEMEKX=ZHR1220&FH#HD1 7
78|F B KX =RINRAT 1 7 FHD 5 FEMEKX=R1157&HHD 2
TR AKX =RAHT 1 7 FHHD 7 BRmEKX=ZR1157HFHD1
80| MIEKX =(RINRAT 1 7 &FHD 9 FEmEKX=R1 15 5FHM
8l|F M MEKX =(RINAHT 1 7 FH#D 10 FEmEKX=/R1 13 8&FH
82|F AKX =(RIARET 1 7 F#D 1 3 BETIEKX=HR1156FMD1
83|F M MIEKX =(RINAAT 1 7 FHD 1 5 BEmEKX=ZR112 1FHD4
B4|FEMIEKX =(RINRAT 1 7 FHD 1 7 BETIEKX=HR1156FMD1
85|F M ME KX =(RINAHT 1 7 FH#D 1 8 BRMmEKX=ZR1I17 1FEHD1
86 (R M BKX =RNART 1 7HFHD 2 1 7Ly FETmEKX=R1 214 FH 7Ly
87 (R BKX =RWAHT 1 8 FHMD 2 BEmEKX=R1154FHD 3
83|FfE T /BKX =RNAHT 1 8 FHD 4 B MmBEKX=R1 15 4FEHD8
89T AKX =RWRHT 1 8 FHD 6 BEmEKX=MR1154FHD4
90| TIEKX =(RILRAT 1 8 & 9 BEHmEKX=ZR112 1HFEMD5
91|F M MEKX =(RIAHT 1 8&FH#D 10 BEmEKX=ZR1154FHD1
2|FEMIFEKX =(RIARET 1 8 F D1 1 IFINS h—Y FEMEKX=R1154FHDI IFILS h—
93|F M MIEKX =(RIAAT 1 8 FHD 1 4 BEEmEKX=R1 15 3FMD 3
94| B TIEKX =(RINRAT 1 8 &FHD 1 9 BETIBKX=R1 16 9FH®D 2
95 |F AKX =(RINAHT 2 0 FH 1 BEmEKX=ZR118 1FHD1
96| A MIEKX =(RILRAT 2 0 FHHD 5 BETIEKX=R119 6FEMHD6
97 (R BEKX =RWRET 2 0 FHbD 8 FEmEKX=R1 18 8&EH
98| MIFEKX =(RIARET 2 0 F#D 1 0 BERNAY FEMmEKX=R118 1&FHHD1 FERANA Y
99| AKX =(RINAHT 2 0 FH#HD 1 0 BRmEKX=R118 1FEMDS5
100|F#EMBE KX =RIEET 2 0 FH#D 1 0 BERANAY FEMEKX=R118 1&FMD5 BERANA Y




B FERT BYeing IB{ERT BYangE

101 |B AKX ZRMRER 2 1 F#o 1 BEHEKX=F1114FH02

102|F MM EKX=RIRFET 2 1 HFHd 2 FEAMmBEKX=R1114FEHD6

103[B4 MM B KX ZRNRRT 2 1 F#to 3 BEHEKX=F1114FH08

104|ERAHBEKX =ZFNRET2 1 &t 7 T ML—FERAIN A BEHEKX=R1 15 2T 1 TR bL—FRAIN AME
105|FRMTEKX =ZRIERT 2 1 FHD 7 IXML—EWRAN BiE BEMmEKX=R1150FHHD1 IXML—FEHRAN B
106|EMMIEKX =ZRMWERT 2 1 FHHD 8 IR ML—FERAI CHE FRETIEKX=R1 16 2%&EH IR FL—FHRAN CHE
107|B#RHEKX =R MR 2 1 FEH#D 9 BEHEKX=F116 1&FE#HD1

108| B TEKX =RER 2 1 F#D 1 0 BEAMBEKX=FR1114FH007

109|B4 MM AKX ZRWNRRT 2 2 F#Ho 1 BEHEKX=F1152F D2

110(B AKX =RMRRT 2 2 FHD 9 EETEKX=MR115 1F D1

111 [BETEKX=ZRWIER 2 4 F#Ho 1 1 L —X BEEMEKX=R1114FHD7 IL—X

112|FEmE KX =R EET 2 5 FHH D 3 BETIEKX=R1 10 8FH®D 2

113| B ME KX ZRWEET 2 5 FEHb o 4 BEmEKX=F1108&FHHND1

114| B M TEKX =RIREET 2 5 FHHD 6 BEEMEKX=/R1108FHD 3

115|E#MMIE KX ZRIEET 2 5 FEHD 6 BEHEKX=F1108&FHHDG

116(F M /E KX =RMMFRT 2 5 FHHD 8 EETEKX=F1104FHD2

117 [ TEKX =ZRMFERT 2 5 F#HD 1 0 B MEKX=R1108&FH#MD1 1

118|F MM E KX =RINFERT 2 5 FHsd 1 1 BEEmEKX=R1108FHHN1

119(FME™MEKX =RIFET 2 5 FEHD 1 2 E+A—21131 FETIEKX=r1 13 1&EH E4—21131

120| M mE KX =RIREET 2 6 FH#D 3 BMEMEKX=R1109FHHD 2

121 |B AKX ZRMERT 2 6 FH 5 BEHEKX=F109 1FHHD 2

122| BB KX =RIREET 2 6 FHHD 6 BEMEMEKX=R109 6&FHD 2

123| B HE KX ZRWEET 2 6 FEHb 7 BEHEKX=R109 6&F#HD 1

124 (B M B KX =R MR 2 6 F# 1 0 FEETEKX=/R1102%FH

125(EMEME KX =ZRWIERT 2 6 F#HD 1 1 EMMEKX=R109 0&FHD6

126|F#EMBEKE =R 2 6 FHHo 1 4 7= bOvy FEMEKX=R1165FHD1 7 -R=va2 b0y




B FERT ety B e IB{ERT EYBinE
127 ME KX ZREET 2 7 D 3 BEHEKX=HF114 1FHD2

128|F M mE KX =RIREET 2 7 FHHD 6 FEAMBEKX=R114 1FEHD6

129| B8R HE KX ZRWEET 2 7 FEHbD 9 BEHEKX=F1132&FHH0D1

130T AKX =ZRWER 2 7 &0 1 2 BEMBEKX=R1144FHD2

131 | B TE KX ZRWEET 2 8 b 2 BEHEKX=F1136&FHHD1

132|F M mE KX =RIRFEET 2 8 FHithd 3 BEmEKX=R1 13 6&FHD?2

133| BT KX ZRWEET 2 8 FEHbD 5 BEHEKX=F1135&FHH0D1

134| B TE KX =RIREET 2 8 FH#HD 6 BEmEKX=R1135FHHD 1

135| B8R HIE KX ZREET 2 8 FEHbDd 9 BEHEKX=F1135&FHH0D1

136|F MM EKX =RNFE 2 8 FHD 1 1 BEMEMEKX=R109 0&FHD5

137[FRETE KX =ZRMFEHT 2 8 F#MD 1 3 EMMEKX=R1 15 8FHHD4

138 M KX =RIRFEET 2 8 FH#D 1 5 FETIEKX=R1 08 4FEHD 1

139(FM B KX =RILFET 2 8 FEHD 1 7 BEEmEKX=R1134FHHD1

140 | TEKX =ZRERT 2 8 F#bd 1 8 FEETEKX=R1147FH

141 (BRI TE KX =ZRIWIFEHT 2 8 FHHD 19 FETEKX=(R1 14 6FH

142 EME KX =R WFER 2 8FMD 2 1 BETIEKX=R1 18 1FEHD 2

143(FRETE KX =ZRIFET 2 8 FHD 2 2 FETEKX=/R1 14 6FH

144 |5 ME KX =R 2 8 FHMD 2 4 BETIEKX=R1 13 9FMHD 2

145 |FRETE KX =ZRIFET 2 8 FEHD 2 5 BEEmEKX=R1139FHHD1

146|F M ME KX =ZRINEET 2 8 F#HdD 2 8 FRETIEKX=R1 18 1FEHD 5

147 [ TEKX ZRMIFEHT 2 8 FHMD 3 0 BEEmEKX=R1139FHHD1

148| BB KX =R MRET 2 8 F#tho 3 3 BEMEKX=F1139FHHD?2

149|B4 M B KX ZRMRRT 2 9 F#io 1 Ay —2ll BEmEKX=FR1117EHD1 ATz —2ll
150 [EMMIBE KX =RMWEET 2 9 F#bod 1 Aoy —2lll BEmEAX=R111 7FHD1 A7z —2ll
151 [ ME KX =ZRWIFET 2 9 F#HD 1 AT —2 | FETEKX=/R1 12 2&EHM ATz — |
152|F M mE KX =RIREET 2 9 FHHD 6 BEmEKX=R1139FHHDS5




=E HEFR B rE IB{EFR BYRINE
153(B# M B KX = RIMRET 2 9 HHD 7 FEHEKE=(R1 12 5FH®D 2

154 | B TIEKX ZRRET 3 0 FHitbod 1 FETEKE=(R1 13 7&FHD2

155 B TIEK X ZRIRRET 3 0 FHitbD 2 V—Fx RFzx FETmEKX=R1120FwD 1 IV—Fx RFz
156 |E#TIE KX ZRRHT 3 0 FHitbd 4 FEHBEKX=F1119%HM

157 (BB KX =R 3 0 HFHID 6 FEmEKX=(R1118&FMH®D3

158|E#TIE KX ZRIRET 3 0 FHitbd 9 FETIEKE=R1 13 6&FHMD1

159| B TIF KX =ZRRET 3 0 FE#bd 1 0 FEHEKX=R1 13 6&FMHD4

160 | B MIE KX =ZRMRET 3 0 Fitbd 1 1 FETEKE=(R1 13 6&FHD2

161 [B# M B KX =RMNRET 3 0 FHD 1 5 FEHEKX=R1 13 6&FMHD3

162|##™IE KX =R WRET 3 0 Ftbd 1 7 FETIEKE=R1 13 6&FMHmD1

163(B# B KX =Z(RIRHT 3 1 & 4 FEHEKE=1R10 8 6 FHD7

164 |E#MTIEKX ZRRET 3 1 Hitbd 8 FETEKE=R110 1%

165(3# M E KX =ZRIMRHT 3 1 &FHD 9 FEMAEKX=R110 1%

166 |E#TIEKX =ZRMRHT 3 1 Hitbd 1 0 FETIEKE=(R110 6&FHD 2

167 | TIEKX =R RET 3 1 HHtbD 1 2 7T FETmEKX=R1106FmD1 70T
168| B MIE KX ZRMRET 3 1 HtbD 1 6 FETIEKX=fR108 4 &EHMD7

169[B# B KX = RINRET 3 1 &F D 1 7 FEHEKE=1R1 0 8 4 FHD 2

170| B TE KX =R MR 3 1 HD 1 9 FETHBEKX=(R10 8 4 &Hits

171(B M KX =ZRIMRET 3 2 FHHD 2 FETHEKX=R1 08 7&HH®D 8

172| B TIE KX ZRRET 3 2 HitbD 6 FETIEKX=(R109 7&FHDS5

173(B M B KX =ZRIMRET 3 2 HFHD 7 FEmEKX=fR1125FHD1

174 B TIEKX ZRRET 3 3 FD 1 FREATIEKE=R109 9&EHMD 8

175(B3 M E KX =ZRIRET 3 3 HFHD 4 FEHEKX=R109 9&HH

176 | B ™IE KX ZRRET 3 3 HHtbD 7 FETIEKE=(R109 9FEHD 2

177 (BB KX =ZRINRET 3 3 HFHD 8 FETHEKX=R1100&FHHD 8

178 B TIE KX ZRRET 3 3&F/MD 1 1 FETIEKE=(R1 10 0&FHLD7




=E HERT 2YanE [SEER BYEnE
L79|B#RTHIF KX ZRINIRET 3 4 FHitbo 1 FEATIEKX=R109 7&FHD 4

180

B MEKX =ZEWERRT 3 7 F#to 1

FEATIEKX=(R10 8 6 FHD5

181

FE KX = RNER 3 7 FHD 2

FEHEKE=1R10 8 6 FHH®D 6

182

BETBENKX ZRWERET3 7 HFHD 3

BEHEKX=1F108 6 &FHn4

183

B IE KX =ZRNERET3 7B 4

FEHEKE=1R10 8 6 FHH®D 3

184

BETBEKXZFWERERET3 9FH#D 10

BT EKX=F108 4FHHDA4

185

B TIE KR = RIRRET 4 0 FHl

FEHBEKX=R107 5&FHD 2




